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Subject Subject Code 
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(1) Simplify 
2

3 93

4

64
−xz

yx
 and express with positive exponents. 

(a) 2316 zy  (b) 23zx  
(c) 239 −zyx  

(d) 23zy  
 

(2) The factored expression of 1258 3 +x  is: 
(a) )10254()58( 2 xxx +++  (b) )20254()252( 2 xxx −++  
(c) )10254()52( 2 xxx −++  (d) )10254()52( 2 xxx ++−  

 

(3) Lelani is 32 years older than her daughter. In 3 years, Lelani will be five times as old as her daughter. 
How old is Lelani after four years from now?  

(a) 37 years (b) 39 years 
(c) 40 years (d) 41 years 

 

(4) RBB research firm began operations in the year 2002. In the beginning, RBB had only 7 data analysts. 
No recruitments were made for the analysts’ cadre until the end of 2004.  In the year 2005, the 
Director of the firm decided to increase the cadre of analysts by 5 each subsequent year. What would 
be the cadre size of analysts by the end of 2016? 

(a) 474 (b) 553 
(c) 623 (d) 798 

 

(5) Miss. Surangi deposited Rs.7,500/- in a bank. The account pays 8.5% compounded semi-annually.  
How long will it take the deposited amount to double itself? 

(a) Approximately 8 years (b) Approximately 33 years 
(c) Approximately 47 years (d) Approximately 53 years 

        



(6) What annual rate of interest compounded annually should you seek if you want to double your 
investment in 6 years? 

(a) 12.24% (b) 6.12% 
(c) 5.24% (d) 4% 

 

(7) The graph of 1234 =+ yx  is the line which passes through the points: 

(a) (0, 4) and (0, 3) (b) (4, 0) and (0, 3) 
(c) (0, 4) and (3, 0) (d) (4, 0) and (3, 0) 

 

(8) The first order derivative of the function )23(4 5 += xxy with respect to x is: 

(a) )13(20 4 −xx  (b) 460x  
(c) 45 4072 xx −  (d) 54 12)23(20 xxx +−  

 

(9) Second order derivative of a certain function is 1912)(11 −= xxf . Critical values of )(xf can be 
found at x = -3, x = 4 and x =7. At which of the following critical values, a relative maximum exists? 

(a) x = -19 (b) x = -3 

(c) x = 4 (d) x = 7 
 

(10) The indefinite integral of the function 
x

y
50= is: 

(a) 
2

50
−x

 
(b) 

2

50

x
 

(c) )50ln( x + C (d) )ln(50 x + C 
 

(11) Those methods involving collecting, organizing and summarizing data are discussed in: 
(a) Descriptive Statistics (b) Inferential Statistics 
(c) Definite integration (d) Differentiation 

 

(12) Which of the following is not a continuous random variable? 
(a) The weight of a particular commodity 
(b) The length of time required to perform a particular task by a worker 
(c) The favorite radio channel of an individual 
(d) Z-Score of a student passed in a G.C.E. A/L examination 

 

(13) Following Pie chart presents the highest level of education of a group of employees in a certain 
company. If the group size is 250, how many employees have failed in the G.C.E. A/L examination? 

24.00% 

26.80% 26.00% 

23.20% 

Highest Level of Education 

O/L or Below

A/L

Diploma

Degree or Above

 

(a) 60 (b) 67 
(c) 127 (d) 190 

 



(14) Which of the following pairs is not included in measures of central tendency? 

(a) Standard Deviation, Second Quartile 

(b) Mean, Variance 
(c) Range, Median 
(d) Standard Deviation, Inter-Quartile Range 

 

Answer the 15th question to 19th question based on the above information. 
 

In a garment factory, bonuses are paid for its operators according to their average efficiency. The 
structure of payment of bonus as follows. 

  

Efficiency Bonus in Rs. 

Efficiency < 40 0 

40  ≤  Efficiency < 60 1,000 

60  ≤  Efficiency < 70 1,500 

70  ≤  Efficiency < 80 2,000 

80  ≤  Efficiency < 90 3,000 

Efficiency ≥ 90 5,000 

Average efficiencies of employees who work in the factory are as follows. 
 

61 47 75 74 50 

69 86 60 34 29 

81 67 39 27 42 

65 67 67 51 86 

 

(15) The simple arithmetic mean of bonuses of employees is: 
(a) Rs. 2,084/- (b) Rs. 1,375/- 
(c) Rs. 2,500/- (d) Rs. 1,350/- 

 

(16) The median of bonuses of employees is: 
(a) Rs. 0 (b) Rs.1,000/- 
(c) Rs.1,500/- (d) Rs.2,000/- 

 

(17) The mode of bonuses of employees is: 
(a) Rs. 0 (b) Rs.1,000/- 
(c) Rs.1,500/- (d) Rs.2,000/- 

 

(18) The standard deviation of bonuses of employees is: 
(a) Rs. 944.16/- (b) Rs. 891,447/- 
(c) Rs. 920.26/- (d) Rs. 846,875/- 

 

(19) The skewness of bonuses of employees is: 
(a) -0.4075 (b) +0.4075 
(c) 0 (d) +0.1661 

 

(20) Mr. Samantha is the Head of the Finance Division of RANMASU Bank. According to his past 
experience he says that the probability of exceeding their total number of depositors 10,000 is 
0.25. Which of the following approach has been used by Mr. Samantha in order to estimate the 
above mentioned probability? 

(a) Classical approach (b) Relative frequency approach 
(c) Axiomatic approach (d) Subjective approach 

 
 



(21) Two coins are tossed. One coin is unbiased, and the other is biased so that a head is three times as 
likely as a tail. The probability of obtaining a head and a tail is: 

(a) 

2

1
 

(b) 

3

1
 

(c) 

4

1
 

(d) 

6

1
 

 

(22) In a group of 30 students, 4 out of 12 females and 7 males got “A” passes for the Business 
Mathematics in the final examination. What is the probability that a person chosen at random from 
this group is a male or a person who has got an “A” pass? 

(a) 

3

2
 

(b) 

15

11
 

(c) 

5

4
 

(d) 

30

29
 

 

(23) Some of the whole numbers from 1 to 10 are included for sets A and B; Set A = {1, 4, 5, 7, 8} and 

Set B = {2, 6, 8, 10}. Elements of the set )( ′∪ BA  are: 

(a) {8} (b) {3, 9} 
(c) {1, 4, 5, 7} (d) {1, 2, 4, 5, 7, 8, 10} 

 

(24) A lot of 90 bolts consist of 7 defectives. If two bolts are selected at random without replacement 
from this lot, what is the probability that selected all two bolts are defective? 

(a) 

90

7
 

(b) 

89

6
 

(c) 

1335

7
 

(d) 

8100

49
 

 

(25) A random variable is said to be continuous if 
(a) its possible values can be counted. 

(b) it can assume any real number within an interval. 

(c) the rules of probability apply. 

(d) it assumes only positive values. 
 

(26) The following table provides a probability distribution of X. What is Pr(X > 2)? 

X -2 1 1.5 2 

Pr(X = x) P P 0.1 3p 
  

(a) 0.54   
(b) 0.18 
(c) 0.1 
(d) 0 

 

(27) Mrs. Nirmani is the best machine operator in AKL garment factory. Her cycle time for a certain task 
follows a normal distribution with the mean of 20 seconds. For a certain cycle, what is the 
probability of the length of time greater than 20 seconds? 

(a) 0
 

(b) 0.25
 

(c) 0.5
 

(d) 1
 

 

(28) Marks of 200 candidates in an examination follow a normal distribution with a mean of 50 and a 
standard deviation of 20 marks. Given that the pass mark is 40, what is the estimate for the 
proportion of candidates who failed the exam? 

(a) 0.3086 (b) 0.5
 

(c) 0.6914 (d) 0.8086 



(29) A certain university has four faculties with 6,250 students. Faculty of Management Studies and 
Commerce is the largest faculty of that university with 4,329 students. The Department of 
Decision Sciences is one department attached to the Management Faculty and 75 students are 
studying in that department. Head of the Department of Decision Sciences wants to estimate the 
average performance of students attached to the department and he selected 30 students 
randomly. The size of the population in this study is: 

(a) 30 (b) 75 
(c) 4,329 (d) 6,250 

 

(30) Which of the followings is not a reason for sampling? 
(a) The destructive nature of certain tests. 
(b) The physical impossibility of checking all items in the population. 
(c) The cost of studying all items in a population. 
(d) Estimates produced by a sample are true population parameters. 

 

(31) Which of the followings is not a type of non-probability sampling? 
(a) Judgmental sampling (b) Cluster sampling 
(c) Quota sampling (d) Convenience sampling 

 

(32) Which of the followings is not a property of the t-distribution? 
(a) It is a continuous distribution 
(b) Its mean is always zero 

(c) The variable associated with the t-distribution ranges from 0 to +∞ 

(d) It is bell shaped and symmetrical about the mean 
 

(33) A government official selected a random sample of 20 farmers and recorded the area which they 
used to cultivate paddy. The sample variance is 0.12. The official assumes that the area follows 
a normal distribution with the mean of 0.3 acres. The official wants to determine the probability 
that the average area of the selected group is greater than 0.5 acres. Which of the followings is 
the most appropriate probability distribution that can be used to calculate that probability? 

(a) T-distribution (b) Normal distribution 
(c) Chi-square distribution (d) Binomial distribution 

 
(34) The manager of a supermarket selected a random sample of 15 customers. It is assumed that the 

spending of a customer follows a normal distribution with the mean of Rs.1,250/-. The manager 
wants to calculate the probability that the average spending of a customer is less than Rs.500/-. 
If the calculated value of the test statistic is -2.145, the corresponding probability is: 

(a) 0.015 (b) 0.025 
(c) 0.035 (d) 0.045 

 
(35) Which of the followings is not included to the statistical inference? 

(a) Point estimation  (b) Interval estimation 
(c) Hypothesis testing (d) Sampling 

 

(36) An interval estimate is a range of values used to 
(a) Calculate a statistic 
(b) Estimate a population parameter 

(c) Estimate the skewness of the sampling distribution 

(d) Estimate the range of a variable 
 



(37) A random sample of 100 observations has a mean of 23.26 for a certain random variable. The 
population standard deviation is known to be 4.762. The 94.52% confidence interval for the 
mean of that random variable is: 

(a) 22.35,  24.17 (b) 22.33,  24.19 
(c) 21.35,  23.17 (d) 25.35,  26.57 

 

(38) In testing hypothesis, the researcher initially assumes 
(a) The null hypothesis is true 
(b) The alternative hypothesis is true 
(c) Population parameters are unknown 
(d) Both the null hypothesis and the alternative hypothesis are false 

 

(39) According to the results of a hypothesis test, the p value is 0.08 and the researcher has rejected 
the null hypothesis. Which of the followings has been used by the researcher as the level of 
significance of the test? 

(a) 0.01 (b) 0.025 
(c) 0.05 (d) 0.1 

 
(40) A university student has taken a random sample of 16 passengers from the Homagama bus 

stand, who were waiting for a bus. The student wants to test whether the mean waiting time of 
passengers is significantly greater than 15 minutes at 5% level of significance. It is assumed that 
the waiting time follows a normal distribution. If the calculated value of the test statistic is 
+1.821, what would be the decision? 
(a) The mean waiting time is equal to 15 minutes 

(b) The mean waiting time is not significantly greater than 15 minutes 
(c) The mean waiting time is significantly greater than 15 minutes 
(d) Given details are not enough in order to make a decision 

        
(41) Which of the following values must not represent a value of the Pearson correlation coefficient?  

(a) 0 (b) 0.05 
(c) -1.01 (d) +1 

 

(42) Mr. Ginige is the Production Manager of a certain manufacturing organization. He selected a 
group of employees from his company and collected their efficiency and absenteeism rates. 
After analyzing data, he says that “as the absenteeism rate decreases, the efficiency rate 
increases in a linear pattern”. The association between both variables is strong. Which of the 
following values can be assumed for the Pearson correlation coefficient? 

(a) -0.92 (b) -0.092 
(c) +0.92 (d) +0.092 

 
(43) A simple linear regression model has the form, Y = 3.21 + 1.94 X. What is the expected value 

of Y when X = 0? 
(a) 0 (b) 1.94 
(c) 3.21 (d) 5.15 
 

(44) If the coefficient of determination for a simple linear regression model; (Y = 0.765 + 2.543X) is 
0.85. Which of the followings gives the right interpretation for the value? 
(a) 85% of the total variance of X is explained by the fitted model;  Y = 0.765 + 2.543X 
(b) 85% of the total variation of Y is explained by the fitted model;  Y = 0.765 + 2.543X 
(c) 85% of the total variance of X is explained by Y 
(d) None of the above 

 
 



(45) Gradual, long-term movement in the time series is called 
(a) Cyclical Variation (b) Seasonal Variation 
(c) Trend (d) Random Variation 

 
(46) Given forecast errors of -1.3, 4.2, 3, -0.8, 1.2 and -2.1, what is the mean absolute deviation? 

(a) 0.7 (b) 2.1 
(c) 4.2 (d) 12.6 
 

(47) Which of the following values of α would cause exponential smoothing to respond the most 
quickly to forecast errors? 

(a) 0 (b) 0.12 
(c) 0.2 (d) 0.35 
 

(48) Which of the following values cannot occur in a random variable which follows a chi-square 
distribution? 

(a) -0.05 (b) 0.025 
(c) 0.95 (d) 1.23 

 
(49) When performing the chi-square test of independence in bi-variate problems, degrees of 

freedom is: (R = No. of rows, C = No. of columns)? 
(a) (R – 1)(C – 1) (b) (R – 1)(C + 1) 
(c) (R + 1)(C - 1) (d) RC + R – C + 1 

 
(50) Dean of the Faculty of Applied Sciences in a certain state university is interested in studying the 

association between the gender and job satisfaction of its lecturers. A Chi-square test was 
performed and the P value of the test was 0.0314. What would be the statistical decision at 5% 
level of significance? 
(a) There is a significant association between the gender and the job satisfaction. 
(b) Job satisfaction of female lecturers is significantly less than that of male lecturers. 
(c) There is no significant association between the gender and the job satisfaction. 
(d) Job satisfaction of female lecturers is significantly greater than that of male lecturers. 

     
 
 

  (50 × 2 Marks = Total 100 Marks) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



List of formulae 

 

Compound Interest 

 

niPS )1( +=  

 

S = Accumulated amount P = Principle amount  I = interest rate per period  

n = number of interest periods 

 

Differentiation 

  

If f(x) = x
n
, where n is a real number, then, f(x) = nx 

n – 1
. 

 

If f(x) = g(x). h(x) and g
/
(x) and h

/
(x) exist, f

/
(x) = g(x).h

/
(x) ± h(x).g

/
(x)   

 

Integration 

 

Cxfdx
xf

xf +=∫ )(ln
)(

)(1

 

 

Summary Measures for a group data distribution 

 

N

xf
N

i
ii∑

== 1Mean c ArithmetiSimple
 

Median = Size of 
th

N







 +
2

1
  item of ordered data set  

  

2
2

2
xN

fX
µσ −= ∑

 

Coefficient of Skewness  (Skp) =
σ
− )MedianMean(3

 

 

 

Probability 

 

)Pr()Pr()Pr()Pr( BABABA ∩−+=∪  

 

)Pr(

)Pr(
)/Pr(

B
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∩=  

 

Exponential Smoothing Formula 
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End of Question Paper 


